Примеры индивидуальных карточек
Уровень 1.

	
	Образец выполнения
	Реши самостоятельно

	Упростить выражение
	56х – 34х = (56 – 34)х = 22х

97у + 43у = (97 - 43)у = 140у

7а – 2а + 4 = (7 – 2)а + 4 = 5а = 4
	64а + 22а

98в – 75в

8с + 5с – 12



	Раскрыть скобки
	3ּ(а + 6) = 3а + 18

8ּ(3с + 7е) = 24с + 56е

(5 – 2в)ּ7 = 35 – 14в
	5ּ(7 – х)

9ּ(2у + 4х)

(17а – 11)ּ4

	Решить уравнение
	37а – 15а  = 44

22а = 44

а = 44 : 22

а = 2

Ответ: 2
	2х + 18 х – 8 = 72

20х – 8 = 72

20х = 72 + 8

20х = 80

х = 80 : 20

х = 4

Ответ: 4


	15х – 5х = 50

11а + 9а – 14 = 26

35с – 2с + 5с – 1 = 37


Уровень 2.

	Вычислить
	34ּ47 + 47ּ24 + 42ּ47 – 146000 : (73ּ54 - 44ּ73)

((93 – 72) : 8 + 15)2



	Упростить выражение 


	8(12у + 27) + 5(31 – 17у). Найти значение выражения при у = 7; 1001.

	Решить уравнение
	3(7 + 4х) – 8х = 201

770 : (4а + 18 а) – 12 = 23

2х5х7х = 4900




